
PdMAIN Corp. ©
Page # : of

Date     : 
Time    :

2005-01-10

 1 
09:40:32

Name: DIMPLEX_ITPARENTRev: JGAug092004

BF5000
 3 

FIREPLACE, 26" ECONOMY,
OPTIFLAME, WITH KNOCKDOWN
TRIM CHINESE, MOD B
ENGINE ASS'Y, FIREPLACE -
OPTIFLAME - NO BRICKS, NO 3D
FLAME
PANEL CABINET BOTTOM, 26"
FIREPLACE
FOOT FIREPLACE 26"
SCREW, SHEET METAL, 4.2 MM [#8] X
13 MM [1/2"], CROSS, PAN HD, BLACK
SCREW, SHEET METAL, 4.2 MM [#8] X
11 MM [7/16"], CROSS, CS HD, BLK
GLASS, TEMPERED - BRONZE
RETAINER GLASS FLAT BLACK
HINGE GRILLE CONTROL DOOR
BLACK 1080MAT-IP 991-2-IP
RIVET 1/8" TYPE BRIV (1821-0406-
02)BLACK
GRILL ASSY, LOUVERED - TOP (FLAT
BLACK)
PANEL, HOUSING
HEATER/CONTROLS WITH PRINT,
OPTIFLAME
LABEL, INSTRUCTION - LIGHT BULB
(60W)
BULB LIGHT CHANDELIER STYLE 60
WATT 120V
REFLECTOR, LIGHT - SHEET (LONG)
LAMPHOLDER MOULDED -E12
100/120V
SCREW, MACHINE, 3 MM [#4] X 20
MM [3/4"], CROSS, PAN HD, ZINC
NUT, HEX M3
TAPE,DOUBLE SIDED
BRACKET, MOUNTING -
MOTOR/REFLECTOR BLK
PANEL ASSEMBLY, CABINET BACK

             1.0000

             1.0000

             1.0000

             3.0000
             3.0000

            45.0000

             1.0000
             1.0000
             2.0000

             6.0000

             1.0000

             1.0000

             1.0000

             4.0000

             1.0000
             6.0000

             2.0000

             2.0000
              .1000
             2.0000

             1.0000

6901180400

.6901170159

..1009800259

..8800090100

..8099120903

..8099120503

..5900000100

..1006770103

..8800040100

..8300030203

..1006720159

..1009770258

..7105470100

..4200020100

..5900070100

..4200090100

..8099120600

..8100120100

..0800080100

..1003400159

..1009780159

Description Qty 

BF5000 FIREPLACE, REGULAR - OPTIFLAME, NO BRICKS, KD TRIM INCLUDED, MOD B     Revision: 16     Drawing Number: BOM-BF5000 
Part Class: Reg     Make Percent: 0     Item Level: 3

Rev #
15

10

01

00
02

02

07
04
02

01

16

03

06

08

09
03

02

01
02
03

01

UOM
PCS

PCS

PCS

PCS
PCS

PCS

PCS
PCS
PCS

PCS

PCS

PCS

PCS

PCS

PCS
PCS

PCS

PCS
ROL
PCS

PCS

Drawing #
6901180000 (D)

6901170000 (D)

1009800000 (D)

8800090000 (A)
8099120000 (A)

8099120000 (A)

5900000000 (C)
1006770000 (A)
8800040000 (A)

830003000 (A)

1006720000 (C)

1009770000 (D)

7105470000 (A)

4200020000 (A)

5900070000 (A)
4200090000 (B)

8099120000 (A)

8100120000 (A)
0800080000 (A)
1003400000 (B)

1009780000 (D)

Component
1

1

1

2
3

4

5
6
7

8

9

10

11

12

13
14

15

16
17
18

19

Seq.



PdMAIN Corp. ©
Page # : of

Date     : 
Time    :

2005-01-10

 2 
09:40:32

Name: DIMPLEX_ITPARENTRev: JGAug092004

BF5000
 3 

MOTOR, 12V STEPPER (FLICKER)
SCREW, SHEET METAL, 3.5 MM [#6] X
8 MM [5/16"], CROSS,SER WSHR PAN
HD, BLACK
REFLECTOR ASS'Y, ROTATING -
LONG RH (CW)
BUSHING, SNAP-IN - 3/16" I.D.
(BLACK)
CLIP WIRE SNAP-IN
LABEL, SERIAL NO. - FIREPLACE
ENGINE
LABEL, RATING - FIREPLACE
(BF5000)
CORD SET 1500WATT,120V,16GA.
8'POLAR BLK
HEYCO STRAIN RELIEF BUSHING
BLACK
POTENTIOMETER, STEPPER MOTOR
CONTROL
BULB LIGHT INCANDESCENT 15W
120V CLEAR
LABEL, INSTRUCTION - LIGHT BULB
(15W)
GLASS, SEMI-SILVERED -
MIRROR/DIFFUSER
LOG SET ASSY 26"
SWITCH ON/OFF
CONTROL, DIMMER
TAG, NOTICE - LIGHT BULB CHECK
W\ HANGER
THERMOSTAT,BIMETAL-S.P. 5C~73C
(T.S.B.)
KNOB, CONTROL - 6MM X 4.5MM
FLAT (BLACK)
POTENTIOMETER, DIMMER
TERMINAL BLOCK
MOTOR, ASSEMBLY, 1200W, 980 RPM
LABEL OPEN HERE FIREPLACE

             1.0000
             2.0000

             1.0000

             1.0000

             7.0000
             1.0000

             1.0000

             1.0000

             1.0000

             1.0000

             2.0000

             1.0000

             1.0000

             1.0000
             2.0000
             1.0000
             1.0000

             1.0000

             3.0000

             1.0000
             1.0000
             1.0000
             1.0000

..3000240200

..8099120103

..5900080300

..8500000400

..8500400100

..7105890100

..7108800200

..4100040200

..8500260003

..3100010200

..4200020500

..7105470200

..5900060100

..0437960100

..2800070200

..3000250100

..7300110206

..2300150100

..8800000300

..3100010100

..4000070100

..2200490200

..7106230158

Description Qty 

BF5000 FIREPLACE, REGULAR - OPTIFLAME, NO BRICKS, KD TRIM INCLUDED, MOD B     Revision: 16     Drawing Number: BOM-BF5000 
Part Class: Reg     Make Percent: 0     Item Level: 3

Rev #
00
02

14

01

00
08

07

10

00

00

08

06

11

05
06
00
01

02

09

00
00
07
07

UOM
PCS
PCS

PCS

PCS

PCS
PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS
PCS
PCS
PCS

PCS

PCS

PCS
PCS
PCS
PCS

Drawing #
3000240000 (B)
8099120000 (A)

5900080000 (B)

8500000000 (B)

8500400000 (A)
7105890000 (A)

7108800000 (B)

4100040000 (B)

8500260000 (A)

3100010000 (A)

4200020000 (A)

7105470000 (A)

5900060000 (B)

0437960000 (B)
2800070000 (B)
3000250000 (B)
7300110000 (A)

2300150000 (B)

8800000000 (B)

3100010000 (A)
4000070000 (A)
2200490000 (C)
7106230000 (B)

Component
20
21

23

24

25
27

28

29

30

31

32

33

34

36
37
38
39

40

41

42
43
46
48

Seq.



PdMAIN Corp. ©
Page # : of

Date     : 
Time    :

2005-01-10

 3 
09:40:32

Name: DIMPLEX_ITPARENTRev: JGAug092004

BF5000
 3 

GRILL
CONTROL, STEPPER MOTOR
SPACER STAND-OFF SNAP-IN
LABEL, INSTRUCTION - GRILL GETS
HOT ...
HOUSING, HEATER ASSEMBLY
BRACKET, HEATER ASSEMBLY
BRACKET, HEATER HOUSING
CUTOUT THERMAL BIMETAL SI
(105C)
SCREW, SHEET METAL, 2.9 MM [#4] X
8 MM [5/16"], CROSS, PAN HD, BLACK
BRACKET MOTOR SCREEN 26"
FIREPLACE
BAG, DUST COVER FIREPLACE
INSTRUCTION BOOKLET, FIREPLACE
- DIMPLEX
REGISTRATION / WARRANTY CARD -
DIMPLEX FIRE PRODUCTS, ON LIGHT
BLUE PAPER
CARD WARNING FIREPLACE GRILLE
CARTON, 26" FIREPLACE W/ KNOCK
DOWN TRIM
LABEL, CARTON - FIREPLACE
(BF5000), MADE IN CHINA
LABEL, SERIAL NO. - FIREPLACE
ENGINE
LABEL BLANK 1 X 4, POLYESTER
SILVER, MAT'L: THERMLFILM MM-2--
SM, T/C-387  L-23
RIBBON, SONY 4070 OR 4072
THERMAL TRANSFER INK, RESIN,
BLACK( FOR MYLAR  STOCK)
KNOCK DOWN TRIM, BLACK, 2" WIDE
EPS PACKAGING FIREPLACE 26"

             1.0000
             8.0000
             1.0000

             1.0000
             1.0000
             1.0000
             1.0000

             1.0000

             1.0000

             1.0000
             1.0000

             1.0000

             1.0000
             1.0000

             2.0000

             1.0000

             1.0000

              .0001

             1.0000
             1.0000

..3000240100

..8500410100

..7106230458

..1009590159

..1009600159

..1009610159

..2300200300

..8099120803

..1011430159

.7000850300

.7203810100

.7204540100

.7300070100

.7002120100

.7108810200

.7105890100

..19984001

..19984004

.6901120159

.7001120100

Description Qty 

BF5000 FIREPLACE, REGULAR - OPTIFLAME, NO BRICKS, KD TRIM INCLUDED, MOD B     Revision: 16     Drawing Number: BOM-BF5000 
Part Class: Reg     Make Percent: 0     Item Level: 3

Rev #

00
00
07

00
00
00
07

02

00

06
02

02

00
05

09

08

11

11

07
00

UOM

PCS
PCS
PCS

PCS
PCS
PCS
PCS

PCS

PCS

PCS
PCS

PCS

PCS
PCS

PCS

PCS

PCS

ROL

PCS
PCS

Drawing #

3000240000 (B)
8500410000 (A)
7106230000 (B)

1009590000 (B)
1009600000 (A)
1009610000 (A)
230020000 (B)

8099120000 (A)

1011430000 (B)

7000850000 (B)
7203810100
(BOOKLET)
7204540000 (B)

7300070000   (A)
7002120000 (C)

7108810000 (B)

7105890000 (A)

19984000  (B)

19984000  (B)

6901120000 (C)
7001120000 (C)

Component

50
51
52

54
55
56
57

58

62

2
3

4

5
6

7

8

10

10

9
10

Seq.


